



St. Louis County, Minnesota

Date of Report: 5/8/2025 4:15:04 PM

**General Details** 

 Parcel ID:
 415-0010-07210

 Document:
 Abstract - 01255533

**Document Date:** 01/30/2015

**Legal Description Details** 

Plat Name: LAKEWOOD

Section Township Range Lot Block

28 51 13

Description: W 1/2 OF SW 1/4 AND THAT PART OF SE 1/4 OF SW 1/4 LYING W OF LESTER RIVER

**Taxpayer Details** 

Taxpayer Name HOXIE SAMUEL & ALISON

and Address: 4902 PLUM AVE
DULUTH MN 55804

**Owner Details** 

Owner Name HOXIE ALISON
Owner Name HOXIE SAMUEL

Payable 2025 Tax Summary

2025 - Net Tax \$10,207.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$10,236.00

Current Tax Due (as of 5/7/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$5,118.00	2025 - 2nd Half Tax	\$5,118.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$5,118.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$5,118.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$5,118.00	2025 - Total Due	\$5,118.00	

**Parcel Details** 

Property Address: 4902 PLUM AVE, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: HOXIE, SAMUEL C & ALISON B

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
201	1 - Owner Homestead (100.00% total)	\$136,200	\$417,300	\$553,500	\$0	\$0	-			
204	0 - Non Homestead	\$32,400	\$266,900	\$299,300	\$0	\$0	-			
112	0 - Non Homestead	\$86,800	\$0	\$86,800	\$0	\$0	-			
Total:		\$255,400	\$684,200	\$939,600	\$0	\$0	9226			





St. Louis County, Minnesota

Date of Report: 5/8/2025 4:15:04 PM

**Land Details** 

Deeded Acres: 105.00

Waterfront: Water Front Feet: 0.00

Water Code 9 Dages W. DDIII ED 1

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: -

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

Im	provement	: 1	Details	(2018	HOUSE)	

Improvement Type	ent Type Year Built		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	2018	1,540		1,540	AVG Quality / 1540 Ft <sup>2</sup>	1S - 1 STORY
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	6	44	264	WALKOUT BAS	EMENT
BAS	1	22	58	1,276	WALKOUT BASEMENT	
CW	1	0	0	412	PIERS AND FO	OTINGS
DK	1	0	0	265	PIERS AND FOOTINGS	
OP	1	6	14	84	PIERS AND FOOTINGS	
Dath Carret	D = d = = = = C =	4	D	<b>&gt;</b>	Finandage Count	11)/40

Bath CountBedroom CountRoom CountFireplace CountHVAC1.5 BATHS4 BEDROOMS-0C&AC&EXCH, PROPANE

### Improvement 2 Details (2018 AG)

Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
GARAGE	2018	57	6	576	-	ATTACHED
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	24	24	576	FLOATING :	SLAB

### Improvement 3 Details (SOUTH HOUS)

ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
HOUSE		1995	1,5	36	1,536	-	SLB - SLAB
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	32	48	1,536	FLOATING	SLAB
	OP	1	11	15	165	POST ON G	ROUND
	SP	1	6	27	162	FLOATING SLAB	
Rath Count Redroom Count		unt	Room (	Count	Firenlace Count	HVAC	

Bath Count Bedroom Count Room Count Fireplace Count HVAC

1.0 BATH 2 BEDROOMS - 0 CENTRAL, ELECTRIC

### Improvement 4 Details (SOUTH DG)

Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
GARAGE	2001	1,34	44	1,344	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	30	32	960	FLOATING SLAB	
LAG	1	12	32	384	-	





St. Louis County, Minnesota

Date of Report: 5/8/2025 4:15:04 PM

		Improv	ement 5	Details (YURT)		
Improvement Type	Year Built	-	oor Ft <sup>2</sup>	•		Style Code & Desc.
HOUSE	2016	Walli Fi		314	Dasement rinish	O - OTHER
Segment			·		- Foundat	
BAS	Story 1	<b>Width</b> 0	Lengin 0	314	POST ON G	
DK	1	10	•	200	POST ON G	
	Bedroom Co		Room (			
Bath Count 0.0 BATHS	1 BEDROOF		1 ROO		Fireplace Count	
0.0 BATHS	1 BEDROOI			•••	- 3	STOVE/SPCE, WOOD
	.,	-		Details (BN)		
Improvement Type	Year Built		oor Ft <sup>2</sup>		Basement Finish	Style Code & Desc.
BARN	1996	2,59		2,592	-	-
Segment	Story	Width	Length		Foundat	
BAS	1	36	72	2,592	POST ON GR	ROUND
LT	1	6	72	432	POST ON GE	ROUND
		Improve	ment 7 De	etails (KENNE	L)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
LEAN TO	1991	96	6	96	<del>-</del>	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	12	96	FLOATING	SLAB
		Improvem	ent 8 Det	ails (LOAF SH	FD)	
Improvement Type	Year Built	•		Gross Area Ft <sup>2</sup>	•	Style Code & Desc.
LEAN TO	1999	43		432	-	-
Segment	Story	Width		Area	Foundat	ion
BAS	1	16		432	POST ON G	
Di to	•					toons
<u> </u>		-		Details (ZBO)		
Improvement Type	Year Built		oor Ft <sup>2</sup>		Basement Finish	Style Code & Desc.
GAZEBO	2001	24		240	-	-
Segment	Story	Width	_	Area	Foundat	
BAS	1	12	20	240	POST ON GF	ROUND
		Improvem	ent 10 De	tails (8X12 SH	ED)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1995	96	6	96	<del>-</del>	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	12	96	POST ON GR	ROUND
		Improveme	nt 11 Det	ails (8X40 CN	ΓNR)	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	32		320	-	-
Segment	Story	Width	Length		Foundat	ion
BAS	1	8	40	320	POST ON GR	
			nt 12 Dot			
Improvement Type	Year Built	mproveme Main Flo		ails (8X40 CN) Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	rear Built 0	Wain Fig. 32		320	Dasement Finish	Style Code & Desc.
					- Foundat	ian -
Segment	Story	Width	Length 40	<b>Area</b> 320	Foundat POST ON G	
BAS	1	8				





St. Louis County, Minnesota

Date of Report: 5/8/2025 4:15:04 PM

				OV 40 ONTNO			
Immercian and Time	oe Year Built	<u>-</u>	nt 13 Details (	8X4U CNINK) s Area Ft²		C4.	ula Cada <sup>9</sup> Daga
Improvement Typ STORAGE BUILDII			Main Floor Ft <sup>2</sup> Gross Are		t <sup>2</sup> Basement Finish Style Code & Des		
Segme			∪ Length	Area	Found	lation	<u>-</u>
BAS	1	y <b>w</b> idii 8	40	320	POST ON		
B/(C		<u> </u>	.,			CROONE	
		Sales Reported	to the St. Lou	is County Au	ditor		
Sa	le Date		Purchase Price		CF	RV Numbe	er
0	1/2015	\$700,000 (	This is part of a mu	ti parcel sale.)		209461	
0	1/1994	\$150,000 (	This is part of a mu	ti parcel sale.)		104721	
		As	ssessment His	tory			
Year	Class Code	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldo EM\	y Net Tax
Teal	(Legend) 201	\$136,200	\$410,400	\$546,600		\$0	/ Capacity
	204	\$32,400	\$264,700	\$297,100	· ·	\$0	<u> </u>
2024 Payable 2025	112	\$86,800	\$0	\$86,800	* * *	\$0	
	Total	\$255,400	\$675,100	\$930,500		\$0	9,118.00
	201	\$134,300	\$375,700	\$510,000	\$0	\$0	
	207	\$21,400	\$274,200	\$295,600		\$0	-
2023 Payable 2024	112	\$97,300	\$0	\$97,300	\$0	\$0	-
	Total	\$253,000	\$649,900	\$902,900	\$0	\$0	9,452.00
	201	\$128,100	\$375,700	\$503,800	\$0	\$0	-
	207	\$20,800	\$274,200	\$295,000	\$0	\$0	-
2022 Payable 2023	112	\$92,500	\$0	\$92,500	\$0	\$0	-
	Total	\$241,400	\$649,900	\$891,300	\$0	\$0	9,337.00
	201	\$166,900	\$320,200	\$487,100	\$0	\$0	-
	207	\$12,500	\$221,200	\$233,700	\$0	\$0	-
2021 Payable 2022	112	\$175,800	\$0	\$175,800	\$0	\$0	-
	Total	\$355,200	\$541,400	\$896,600	\$0	\$0	8,935.00
		1	Tax Detail Hist	ory			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Lan	Taxable Bu d MV MV		Total Taxable MV
2024	\$10,311.00	\$25.00	\$10,336.00	\$253,000	0 \$649,90	00	\$902,900
2023	\$10,835.00	\$25.00	\$10,860.00	\$241,40	0 \$649,90	00	\$891,300
2022	\$11,445.00	\$25.00	\$11,470.00	\$355,20	0 \$541,40	00	\$896,600





St. Louis County, Minnesota

Date of Report: 5/8/2025 4:15:04 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.